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Fertilisation and implantation

Aims

In this activity students will:

· study each of the key steps in fertilisation and implantation 

· develop an understanding of how the baby is formed at the beginning.

Students will be using the following literacy/numeracy skills:

· use scientific terms confidently and correctly, and use a range of writing styles and texts to include information relevant to the audience

· obtain necessary information to make accurate calculations and check working and results.

Teacher notes 

· Follow Task 1 on activity sheet 1 to discuss the size of human gametes. Access sheet 1 does not include the calculation. 

· You may choose to use a film to help deliver the topic of sexual intercourse. This will depend upon school policy. Students may also have a range of questions on the topic, so you will need to be prepared to handle such questions sensitively.

· Follow the activity sheet to complete Task 2 on sexual intercourse. The access sheet has lower-demand questions.

· Show the OUP film on fertilisation (optional). Students should summarise their understanding of fertilisation and implantation on the activity sheet.

· For an extension, students can evaluate the film, for example, what has the film shown well, what images were particularly good, was any topic not fully covered? 

· For homework, students can create a storyboard using the blank film negatives in the second activity sheet. An access sheet with a film strip and headings has also been provided for support. As an extension, students should use scientific terms in their explanations.

Answers 

Task 1: The size of sperm and egg cells

1
testes
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ovaries
	Cell
	Size of cell in
picture (mm)
	Magnification
	
 picture size 

magnification

	egg
	50
	500×
	0.1 mm

	sperm
	60
	1000×
	0.06 mm


4
1.7 times bigger

Task 2: Sexual intercourse


Task 3: Fertilisation and implantation (optional)

1
The egg cell and the sperm cell join together.

2
The embryo attaches to the lining of the uterus.

Extension

1
0.007 mm

2
(Credit any sensible suggestions.)

Homework

Mark scheme for the story board:

	Mark band 1–3
	Mark band 4–6
	Mark band 7–9

	· Film would have few sequences; images poorly described.

· Text fails to include scientific vocabulary.

· Text fails to describe the process clearly.


	· Film would have a good number of sequences, at least one for each major process; images well described.

· Text includes some scientific vocabulary.

· Text describes the process reasonably clearly.
	· Film would have many sequences and comprehensively covers the topic.

· Images clearly described.

· Text includes all major scientific vocabulary.

· Text describes the process very clearly.
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Actual size =





…500 million sperm.





…out of the penis.





…becomes stiff and erect.





…becomes relaxed and moist.





…causes the man to ejaculate.





During intercourse, the man’s penis…





The woman’s vagina…





Moving the penis in the vagina…





Semen is released…





Each ejaculation contains…
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